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1) If the Federal Reserve buys $3 billion worth of Japanese yen and sells $5 billion of euros, how

does this affect the official settlements balance?
A) Falls by $2 billion  B) Rises by $2 billion C) Rises by $3 billion D) Falls by $5 billion

2) If the United States had a capital and financial account deficit of $50 billion, we could say the

United States had
A) net imports of $50 billion. B) net foreign borrowing of $50 billion.
C) acquired net foreign assets of $50 billion. D) a current account deficit of $50 billion.

3) The yield curve shows

A) the yields on stocks of different maturities.

B) the interest rates on bonds of different maturities.
C) the yields on stocks with differing default risk.
D) the yields on bonds with differing default risk.

4) Desired national saving would decrease unambiguously if there were

A) a decrease in current output and a decrease in taxes.

B) an increase in expected future output and a decrease in government purchases.
C) an increase in both expected future output and the expected real interest rate.

D) a fall in both government purchases and expected future output.

5) Nations such as Egypt and Turkey may have wide differences between GNP and GDP because
both the countries

A) have a high level of imports and exports relative to GNP.

B) have a large portion of their GNP produced by multinational corporations.

C) have a large number of citizens working abroad.

D) purchase large amounts of military wares from other countries.

6) The aggregate supply of labor is the
A) total amount of time a person works over his or her lifetime.
B) total amount of time a person spends in the labor force over his or her lifetime.

C) unemployment rate. D) sum of the labor supplied by everyone in the economy.

7) If a French company sells 1000 gallons of Perrier to a U.S. company at 5 euros per gallon, and

the money to buy stock in a Spanish cork company, how does this affect the French balance of
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payments accounts?

A) Debit: capital and financial account; credit: merchandise trade

B) Debit: merchandise trade; credit: capital and financial account

C) Debit: net investment income from abroad; credit: capital and financial account

D) Debit: merchandise trade; credit: net investment income from abroad.

8) Suppose the current level of output is 5000. If the elasticities of output with respect to capital and
labor are 0.3 and 0.7, respectively, a 10% increase in capital combined with a 5% increase in labor
and a 5% increase in productivity would increase the current level of output to

A) 5015, B) 5325. C)5575. D)6000.

9) Between 1870 and 2008, among the United States, Germany, Japan, and Australia,
grew at the fastest rate and grew at the slowest rate.

A) United States; Germany B) Germany; United States

C) Australia; Japan D) Japan; Australia

10) The Golden Rule capital-labor ratio is the level of the capital-labor ratio that, in the steady state,
A) maximizes output per worker. B) maximizes investment per worker.
() maximizes consumption per worker. D) maximizes capital per worker.

11) A disadvantage of the barter system is that

A) no trade occurs, B) people must produce all their own food. clothing, and shelter.
C) the opportunity to specialize is greatly reduced.

D) gold is the only unit of account.

12) M1 does not include
A) MMMFs. B) travelers' checks.  C) currency. D) transaction accounts.

13) We shouldn't be concerned about U.S. currency held abroad because
A) the currency will never return to the United States.

B) foreigners use it to buy U.S. bonds.

C) it represents an interest-free loan to the United States.

D) foreigners can't spend it in their own countries.

14) Which of the following is most likely to lead to an increase of 1% in the nominal demand for

money?
A) An increase in real income of 0.5% B) A decrease in real income of 0.5%
C) A decline of 1% in the price level D) An increase of 1% in the price level

15) The tendency for declines in economic activity to be followed by further declines, and for
growth in economic activity to be followed by more growth is called
A) persistence. B) comovement. C) periodicity. D) recurrence.
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1. (10 43 Suppose that Canadian’s spending is highly sensitive to a change in the interest rate.
Compare the effectiveness of monetary and fiscal policy during the Global Financial Crisis

(2008 ~)while the US government lunched income tax cut .

. (10 %) If the economy is to remain in long-run equilibrium, what must happen to the price level,

2

the wage level, and the level of real GDP when the following cvents occur?

A. An increase in government-financed highway construction.

B. An increase in the productivity caused by more use of computers (while the money

supply 1s constant)

(104 ) EBRIE 2014 F 1 B 31 BHE  FENERABBAZENRRMAD (B

(N

BAEENERLEES T, KA 257 ) TEBERERS B SNEEAR HER 2013
EH 12 BRATER 4 BB AR , 958 43%0KEIE, o REERELERRMEETHERE

BHREERNEREERM? (UWREENEEATHER)
4. (10%) BRETERARHNER BREARBIREABANHE, BRUTENRFR
B 8 (inverse demand function) Al & R & p=40-3q , SLE#E B Bl (inverse supply function) 7] &

RE p=20+2q,
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